Sample Essay : Question 1 
1. Jimmy is an avid candy connoisseur. Last year, he purchased 75 Snickers bars costing $2 each and 100 Butterfinger bars costing $1 each. This year, he purchased 120 Snickers bars for $1.50 each and 90 Butterfinger bars for $1.75 each. 

a. Assume that a typical consumer basket includes 50 bars of each type. Compute a consumer price index for each year and determine the percentage change in the index over the two years. 

b. Calculate Jimmy's nominal spending on candy bars in each year. Does nominal spending increase or decrease? 

c. Using the first year as the base year, determine Jimmy's real spending on candy bars in each year. Does real spending increase or decrease? 

d. Calculate the implicit price deflator (defined as nominal spending divided by real spending). How does this deflator compare the CPI calculated in part (a)? Which measurement do you think is more relevant in determining the change in Jimmy's cost of living? 

Answers: 
1. a. The basket cost $150 ($2*50+$1*50) in the first year and $162.5 ($1.50*50+$1.75*50) in the second year. The percent increase is 8.33% ((162.5-150)/150). 

b. Nominal spending increased: Jimmy spent $250 ($2*75+$1*100) in the first year and $337.50 ($1.50*120+$1.75*90) in the second year. 

c. Real spending increased: Using the first year as the base year, Jimmy spent $250 ($2*75+$1*100) in the first year and $330 ($2*120+$1*90) in the second year. 

d. The implicit price deflator is 1 in the first year ($250/$250) and 1.02 ($337.50/$330) in the second year. The percent increase in the deflator is 2%, which is lower than the change in the CPI index. The implicit price deflator is more directly related to Jimmy's cost of living since it is based upon his purchases in each year. 

Sample Essay : Question 2 
If the government wants to increase the amount of savings in the economy, how should it alter government spending? What effect will this action have on the interest rate in the economy? (Use the appropriate graph to help demonstrate the effect.) 

Answers: 
S = Y – C – G The government should decrease spending to increase national saving. This will lower the interest rate. (Shift out the savings line in the interest 

rate equilibrium graph. The interest rate falls due to the downward slope of the desired investment line.) 

Sample Essay : Question 3 
Let the following equations characterize an economy: (note the addition of a tax rate on output) 

Y = C + I + G 

Y = 200 

C = 23 + 0.8(Y – T) 

I = 50 – 9r 

G = 60 

T = 40 + 0.1Y 

a. Calculate national saving, private saving, and public saving. 

b. Determine the equilibrium interest rate. 

c. Suppose that output increases to 209. Redo the calculations in (a) and (b). Explain (in terms of savings and investment) the reason for the interest rate change. 

d. What caused the change in private savings? Why did public savings change? 

Answers: 
a. S = Y – C – G = 200 – (23 + 0.8*200 – 0.8*40 – 0.8*0.1*200) – 60 = 5 

S(public) = T – G = 40 + 0.1*200 – 60 = 0 

S(private) = S – S(public) = 5 – 0 = 5 

b. 200 = 23 + 0.8*200 – 0.8*40 – 0.8*0.1*200 + 50 – 9r + 60 

r = 5 

c. S = Y – C – G = 209 – (23 + 0.8*209 – 0.8*40 – 0.8*0.1*209) – 60 = 7.52 

S(public) = 40 + 0.1*209 – 60 = 0.9 

S(private) = 7.52-.9 = 6.62 

The interest rate decreases due to the increase in savings of the economy (excess supply of loanable funds). 

d. Private savings increased because not all of the additional income is spent on consumption. Public savings increased because of the marginal tax rate charged on the additional income. 

Sample Essay : Question 4 
Why might there be a benefit of inflation? 

Answers: 
Some economists argue that a little inflation helps to clear the labor markets. Their argument is based on the observation that cuts in nominal wages are rare: firms rarely cut their workers’ nominal wages and workers are reluctant to accept them. If nominal wages can’t be cut, then the only way to lower real wages is to allow inflation to do the job. That is, inflation might help to reduce real wages when a reduction is required to ensure that labor demand equals labor supply. 

Sample Essay : Question 5
In the 1980's, the United States had large government deficits and large trade deficits. In the late 1990's, the government deficit has been eliminated but the large trade deficit remains. Using the link between net exports, savings, and investment, why did the trade deficit remain so large when the government deficit was eliminated? 

Answers: 
The link between government deficits and trade deficits can be most easily seen by splitting savings into two categories: private savings (SP) and government savings. Government savings is simply the difference between taxes (T) and government spending (G). So we can describe savings as S = SP + (T - G). Substitute this into the relationship between net exports, savings, and investment to get NX = SP + (T - G) - I. Now we can see that if private savings and investment remain constant, a decrease in government savings (increased budget deficit) will lead to a decrease in net exports (increased trade deficit). This describes the situation in the 1980's. In the late 1990's we have seen an increase in government savings. This has not lead to a corresponding increase in net exports, which must indicate that private savings and investment have changed. Higher investment and lower private savings could account for this outcome, and there is evidence that both of these changes have occurred. 

Sample Essay : Question 6
Let the following equations characterize an economy: 

C = 400 + 0.8*(Y-T) 

G = 300 

T = 250 

I = 200 

a. Draw a graph of planned expenditures for this economy and calculate the equilibrium level of output. 

b. Suppose output this year was 3000. Is the economy in equilibrum? 

c. If the government wanted to use fiscal policy to move the economy to equilibrium, by how much would it have to increase government spending? What is the government spending multiplier? 

d. If the government decided not to change fiscal policy, describe the process by which the economy would move toward equilibrium. 

Answers: 
a. The equilibrium is calculated by solving the following equation for output: Y = C(Y-T) + I + G Y = 400 + 0.8*(Y-250) + 200 + 300 

Y = 900 + 0.8*Y - 0.8*250 = 700 + 0.8*Y (1-0.8)Y = 700 Y = 700/(1-0.8) = 3500 

In the graph, the planned expenditure line should have an intercept of 700 and a slope of 0.8. It should cross the Y=E line at Y=3500. 

b. If actual expenditure is 3000, then the economy is below the equilibrium value. 

c. The government spending multiplier is 1/(1-MPC) = 5. To increase output from 3000 to 3500, government spending should be increased by 100. The multiplier effect is 100*5 = 500, which will increase output to the equilibrium level. 

If the government does not increase spending, the economy will move toward equilibrium on its own. From the graph we see that actual output is less than planned expenditure. Therefore, firms are seeing an unplanned decrease in inventories. They will boost production to meet the planned expenditures until the equilibrium level is reached. 

